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-Time : Thre’e l_lours T ' ng:mum : 100 marks '
(Use of present value tables permitted)
'Aﬁswer ALL q‘uestions‘

PART A (10 ® 2 20 marks)
What is law of supply‘? :
‘Whatis a bleak even chért'? .
What do you mean by Value AllaIYSIS'?
- What is effectlve interest rate? |
~ What do you mean by pr esent wor th method"
What i is Cost dominated cash flow? _ _ _
List ény two"disadvaﬁtages of breakdown maintenrance -
_What 1s called avallablhty in mamtenance engmeemng’?
What is depreciation?’ '
' Whai; is inflation?
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11. (a) Bnng out the 31gn1f1cance of choosmg the matenal for ploduct deSIgn .‘
' selectmn
' Or

. (b).  With '_examples explain the various elements of the cost.
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20% interest 1ate compounded annually:

_model for 1tems which faﬂ completeiy

.

A company hes extra capacity that can be used fo produce a sophistjcated
' fixtule which it has been buying for Rs. 900 each. If the company makes
‘the fixtures, it will i 1110u1 materials cost of Rs. 300 per unit, labour costs of
~ Rs. 250 per unit, and variable overhead costs of Rs. 100 per unit. The :

annual fixed . cost associated with the unused capa‘clty is Rs. 10,00,000.

_Demand over the next year is estimated at 5,000 umts Would it be

profltable for the company to make the f1xtu1es"

'_Or.'.

: Expiam the concept of time value of money, Also gwe examples for
'apphcation of time value of money principle. -

Beta Industry is plax__mmg_to_expa_nd its 'producti_on operation. It has
_identified three different technologies for meeting the goal, The initial

outlay and annual revenues with respect to each of the technologies are

- summarized -below. Suggést. the best i:echnology which is' to. be
'nnplemented based on- the plesent wor th. method of compauson assummg

Technology Imtlal outlay Anm:lal 1_eye11ue Life
_ ' 1nRs. s inR's,r,"_(yea'rs)
1 | 12,00,000 400,000 | 10
.2 20,00,000 "~ 6,00,000 N 10
3 -‘_1'8,00,00(_)"{ . 5,00,000 |- 10
- Or-

With illustration 'explain che con‘cept of future worth 'me‘t}_iod_ using’

revenue dominated cash flow di'agraxn." . T

The data on ‘the runnmg cost per yeal and 1esale price of eqmpment ‘A’

',whose purchase prlce is Rs 2 00,000, are. as follows:

Year . 1 2 3-_;'4 5 6 '.7'
Running Cost (Rs) 50,000° 38,000 46,000 58,000 72,000.90,000 1,10, 000"
Resale Value (Rs) 1,00,000 50,000 25,000 12,000 8,000 8,000 8,000

- What,is the optimuih Iﬂeriod of rep-lscemen't?' -'

Or

W1th an 1]lustlat1on explain the need and the use of snnple plobablhstlc
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Ei(plai_n the procedufe.to adjust inflation in calculation depceciatiOn.

Or -

Wlth an example explam the str alght line method of deplecmtlon Also
hst the advantages of using stralght line method of dep1 eciation.

S8 s 20859



